. In frut flies, gray body color {(5) is dominant over black body color {g). What kind of offspring
would you expect from parents who are both heterozygous for body color (Gg x Ggi?

G g
. ‘ ﬁwﬁ . Use the information in the um&m_.mm o answer the following question.
1 ’ COLORBLINDIESS PEDIGREE
g ) Generation | -
a. 0% gray, 100% biack Generation I O W%Qﬂ%wwmahw Dot}
b. 25% gray, 75% black . Cacriee Pernake
c. 75% gray, 25% black Geneeation it * Eisteronygues)
d. 100% gray, 0% black [] Notst visie
m 2 Ceneration 1Y Atfacted Male
- Johnand Mary have three daughters, What are the chances thet their fourth child wili be a ) .
) a. 1outof8{{2.5%) . . . How many individuals have red-green colorbliindness in the fourth generafion shown in the pedigree?
b. 2 outof 4 (75%) ) - a 3
c. 1outof 4 (25%) : b. 4
d. 1 oukof 2 (50%) . o 7
) . _ d. 12
nw L In pigeons, the aliele R produces red feathers. The allele r praduces biue feathers.
A heterozygous-pigeon is crossed with a homozygous recessive pigeon. What percent of the offspring ) )
are expected to h d feathers? Lo . .
am_ﬂ.u oMm e mg e The pedigree showing the inhetitance of a gold dorsal siripe pattern in ball pythons is shown below.
b, 25% . ) O i & :
o 50% ) E : 7 W { mu
d. 100% _U._.& 4 { Im
Nl d . _
mw 5 in dogs, brown fur (B) is dominant to white fur (b). Which of these Punnstt squares shows a e mu_x_lr_nw% ” 3 mu W mu mu W & mw LI._ &
50% chance of-having a puppy with white fur?
a : G |
B b B B
B . oy
Normwl  Sieiped
wale [ 3
? i Funmic O @
b d . Aceording to the pedigree, what type-of irail is this stripe pattem in bafl pythons?
d 2 2 ° : a. Co-dominiant , , )
B b b. Dominant
¢. Recessive
. . d. Sexlinked
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In fruti flies, gray body color (G} is dominant over black body color {g). What kind of offspring
would you expect from parents who are both heterozygouts for body color {Gg x Gg)?

G g
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a, 0% gray, 160% biack

b. 25% gray, 75% black

c. 75% gray, 25% black

d. 100% gray, 0% black
m = Johnand Mary have three daughters, What are the chances that their fourth child wili be a
boy? :
1 out of 8 {12.5%})
3 otk of 4 (75%)
1 outof 4 (26%)
1 out of 2 (50%)
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nw L in pigeons, the aliele R produces red feathers. The allele r produces biue feathers,

A heferozygous pigeon is crossed with 2 homozygous recessive pigeon. What percent of the offspring
are expected fo have red feathers?
a 0%
b, 25%
¢ 50%
d. 100%

mw .w.m in dogs, brown fur (B) is dominant to white fur (b). Which of these Punnett squares shows a
56% chance of-having a puppy with white fur?

a. ’ c,
B - 8 B
B b
B sl
b. d
B b B b
5 b
b s

.uuﬁu & Usethe informeafion in the pedigree to answer the following question.

COLORBLINDNESS PEDIGRES
Ceneration |
- Normat Female
Fomm——— O {Homenygeus Dominaot}
B, Carriee Pamnabe
Generstion 1 O LA {Hetesozygous)
T [] Morswtavaie
Canenetion 1Y @ Affecied Male

How many individuals have red-green colorbfindness in the fourth generation shown in the pedigree?
a 3

b 4

c 7

d. 42

mg e The pedigree showing the tnheritance of a gold dorsal stripe pattern in bafl pythons is shawn below.
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w:owa&miu
n:& w béth bben

According to the umn_ﬁqmm what ,oam -of $rait is this mu._um vmﬂmﬁ in bafl pythons?
a, Co-domirtant
b. Doinant
¢. Recessive
d. Sex-linked



. In frult flies, gray body color {G) is dominant over black body color {g). What kind of offspring
would you expedt from parents who are both heterozygous for body color {Gg X Gg)?

G g

. - ﬁu w & Usethe informeation in the pedigree o answer the fellowing question.
1 _ COLORBLINIPNESS PEDIGREE

g , Gemerationt

‘ ’ 5 Normat Fernale
0% gray, 100% biack Gemaration 10 O 0l

b {Homomygous Dominmnty
b. 25% gray, 75% black . Cartier Pernale
G. 75% gray, 25% black Cemeation IR * Hieteronyoes)
d. 100% gray, 0% black [] Notstvisie
7 Ceneration 1Y Abfacted Male
= john and Mary have three daughtérs, What are the chances that their fourth child wilf be 2 ) .
. a. 1outof 8 (12.5%) . ' How many individuals have red-green colorblindaess in the fourth generafion shown in the pedigree?
b. 3 outof 4 (75%) ) - a 3
o 1outof4 (25%) : b. 4
d. 1 outof 2 (50%) - M. Mm
nw L in pigeons, the aliele R produces red feathers. The allele r praduces biue feathers.
A heterozygous-pigeon is crossed with a homozygous recessive pigeon, What percent of the offspring ) )
- mwnmﬂﬂ_ 17 e red festhers? m e The pedigree showing the inheritance of a goid dorsal siripe paftern in baf] pythons is shown below.
b, 25% . _ G i & :
¢ 50% ) : . 7 W T mw M
d. 100% W i
- ’ I
mw 5 In dogs, brown fur (B) is dominant to white fur (b). Which of these Punnetlt squares shows a g &_._Ir_&% ” 2 mu % mv Mu & & mm LI._ &
50% chance of-having a puppy with white fur? )
a c ] .
B b 8 B
B B ey
Normral Stripid
wale [ 3
’ ] i e )
b- d Aceording fo the pedigree, what type-of frait is fhis siripe patfem in bafl pythons?
d > kd L a. Co-dominant , , :
5 b b. Dominant
o ¢. Recessive
. . d. Sexlinked
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